(1) If f(x) = 22 + 4, which of the following is f/(3)?
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(2) Find all values of & for which the graph of f(x) = :13+ n
x

line parallel to the line y = 3x + 1.

has a tangent

A. —2and 0 B.3and 0 C.0and 2 D.—-3 and 1
E. —3 and 0
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(3) A particle is moving on a straight line so that its displacement from the
origin is given by s(t) = t* — 6t> + 12t — 8. During which of the
following time intervals is the particle speeding up?

A. (2, 00)only B.(0,3)only C. (0, c0) only
D. (0,1) U (2, c0) E. (0, 2) only

s"E)= gt ~1 = 6(t-2)>0 wha
t>2
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(4) Which of these statements are TRUE?
(i) If f(x) = |=|, then f/(0) DNE
(ii) If g(x) = m, then g’(0) DNE
(iii) If h(x) = $|w|, then h’(0) =0

A. Only (i) and (ii) B. Only (i) C. Only (i) and (iii)
D. None are True E. All are True
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(5) If the normal line to the graph of y = f(x) at (2,6) is y = 2z — 4,
what is f/(2)7?



(6) Given the graph of y = f(x) as shown here:
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(7) The tangent line to y = (2 - \/5) at @ = 1 intersects the y axis
where?

A. (0,6) B. (0,4) C. (0,2) D. (0,1) E. (0,3)
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(9) Find the derivative of f(x) =
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(10) If y =/« + =, then ¢y’ =
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f(0)=-3] f(1)=4
f'(0)=2] f'(1) =3
g(0) =1 g(1) =0 |
g'(0) =-1]g'(1) = -2

 find A’(0).

(11) Given the following data

f(g(x))

if h(x) = ()

A.7 B.2 C.4 D.3 E.1
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(12) E(m sinz) =

A. 2cosx —xsinx B. zcosx +sinx C.xcosx —sinzx

D.xzsinx +cosx E.xcosx —2sinx
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sinx cosx —sinx + xsinx

(13) Compute alclirtl) —

A.7 B.DNE C.0 D.2 E.1
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(14) %(Sin‘g(w) — cos(:c?’)) —

A. 3sin®(x) cos(z) — 32 sin(x?)
B. 3sin?(x) cos(x) + 322 sin(x?) cos(x?)
C. 3sin?(x) cos(x) — 322 sin(z>) cos(x?)
D. 3sin®(x) cos(z) + 322 cos(x?)

E. 3sin®(x) cos(z) + 322 sin(x?)
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(15) Use Implicit Differentiation to find ¢’ if «? 4+ 5xy — 6y* = 18

2 + Sy B2:13—|—5y C 2x
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(16) Use Logarithmic Differentiation to find the derivative of f(x) = @
e ~— —

A. (sinz)z®m*~1 B. z°"? (cosz) (Inx)

SN &
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(17) If f(x) = =%, find f'(e).

A.0 B.1 C.2 D.3 E. 4
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(18) If y = x? + 2%, then &Y _
dx

A. 2+ x22*1 B.2x+2® C. 2x+2%In2
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(19) Find f/(1) if f(x) =1In [ (z + 1)4

A.1 B. -1 C. 2 D. -2 E. 5
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(20) If f(x) = tan™! ( 2 ) f'(—=1) =

xr2
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(21) If y= arcsin(w) — \/1_72327 Yy _

dx
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(22) Compute y” if x*+ y*> =2y +5. ‘Iyu?l{a't p('F_F
22
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23) If y = y(x) is defined implicitly by the equation ev’ = 10x
(23) fy =1y plicitly by q J] ,

d
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